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reating quadratic equations from word problems M“’

Ex. 1) A rectangular lot is bounded on one side by a river
and on the other three sides by

80m.of fencing
Determine the dimensions of the/fargest lot possible
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Ex. 2) The size of a television screen or computer monitor
is usually stated as the length of the diagonal.
A screen has a 38-cm diagonal. The width of
the screen is 6 cm more than the height. Find
the dimensions of the screen to the nearest tenth.
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Ex. 3) The cost of a ticket to a hockey arena which seats 800
people is $3. At this price, every ticket is sold. A
survey indicates that for every dollar increase in price,

attendance will fall by 100 people. What ticket price
results in the greatest revenue? What is th test
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Ex. 4) Determine the number which exceeds its square by the
greatest possible amount.
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Ex. 5) A sporting goods store sells 90 ski jackets in a
season for $200 each. Each $10 decrease in price
would result in five more jackets being sold.

(a) Find the number of jackets sold and the selling
price to give maximum revenues.

(b) What is the lowest price that would produce revenues
of at least $15600? How many jackets would be
sold at this price?
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Assigned Work:

p. 158 #14, 15
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